





11.

12.

13.

14.

Which of the following committees was established o 15.

review In-service Training of the |AS officers
(September 2003)7

(A) Sarkar Committes

{B) Damodaran Committee

() Yugandhar Commitiee

(D} Prof. M B Madhava Menon Committes

IETE i working in which one of the following areas?

{A) Training for teachers 16.

(B) Advancement of Science and Technology of

Electronics, Telecommunication & IT
() Monitor educational policies
(D) Pramote education for entrepreneurship

Which of the following is one of the objectives of

uGc? 17.

(A) To review In- service training of the [AS officers

{B) To provide technical assistance to schoals and
universities

l{,@} To coordinate, determine and maintain standards
of university education

(D) To provide counselling service for university 18.

graduates
Which of the following iz one of the objectives of
'‘Swachh Bharat: Swachh Vidyalaya' scheme initiated
by tha Govemnment?
(A) Clean premises in the school
(B} Remove corruption from school
yﬁ’} Water, Sanitation and Hygiene in Schools
(D} Increase the standard of Public Schools

Name the scheme launched by the Govemment fo
setling up residential schools at upper primary leve
for girls belonging predominantly to the SC, ST, OBC
and minority communities,

(&) Mid-Day meal

(B) Kasturba Gandhi Balika Vidyalaya

J{,C} Rashiriyva Shiksha Abhivan

(D) Mational Merit-cum-Means Scholarship Scheme
What is the process called through which solid is
transformed into gas?

iA) Condensation

JB) Vaporization

(C) Fusion

(D) Sublimation

Which of the following types of waves are used in
Might Vision Apparatus?

(A) Infra-red waves

(B) Radio waves

[C) Micro waves

(2] LASER waves

What is the other name of Rajya Sabha?

(A) Cabinet

JB) Council of States

(C) Standing committee

(D) Council of Ministers
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27,

28,

30.

I am a geometrical figure. | have no cornars and no
edges. | am threa dimensional. What am |7

1A} Pyramid

1B} Cube

iC) Sphere

(D) Prism

Under a scheme, if 7 empty bottles of soda are
returned to the shopkeeper, then 1 boftle of s?da is
given back. Fard has purchased 21 bottles of soda.
How many bottles of seda can he drink at most?

(A 21

(B) 23
JE) 24

{D} 25

Some persons are standing in a queue. If the last
parson moves o the front, then the position of the
middle person changes lo fourteanth from last, What
will he the position of the third person from last when
sé-_en from front?

(4] 130

(B} 18w

(C) o=

(D) Z7m

In a cerain language, FACTUAL is coded as
CAFTLAL. How would MORMING be coded in this
language?

{A) MORMNGHNI
JBT ROMNGNI

(C) GNINMOR

(D) GNINROM
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32.

33.

34,

Mame the dimension of equality and social justice for

which the school systemn will have to sfrive for

(A} Social disturbance

(B} Moral difference

(C) Economic disparity

(D) Psychological disparity

The maximum goal of education is

!f#] Diffusion of knowledge, values, attiiudes and
norms of relationships required for plaving adult
role

(B) Upbringing of the progemy

(T} Management of the organization

(D) Working for the nation

In which of the following activiies does a teacher

present a guestion or situation and gives leamers a

short time to answer freely and suggest solutions or

ideas?

1A} Demonstration

(B} Brain storming

(2 Dramatization

(D) Case studies

In which of the following methods, to promote active

leaming, & teacher asks questions to students during

the course of teaching?

(&) Scientific method

1B) Lecture meathod

(S Flayway method

(D) Socratic method






ldentify the reading disorder, which is characlerized
by trouble with reading although the person has
normal intelligence. Froblems may include difficulties
in spelling words, reading quickly, writing words,
"sounding out" words in the head, pronouncing words
when reading aloud and understanding what one
reads.

;A} Alexia

(B) Schizoaffective disorder

1) Dyslexia

(D) Dissociative identity disorder

Nitya Prakash, a specialist at Kennedy High School,
Hyderabad, says teachers there have found that
classroom rules are most effective when teachers,
parents, and students are equally committed to follow
them. At the beginning of each year, a nale with
specific responsibilities is signed by each of tha
parties involved. In this context, as a teacher you
would accept which of the following?

{A) Develop classroom rules | am unwilling to enforce

49,

{B) Send the student out from the classroom for the
misbehaviour

{C) lgnore when there is a small disturbance at the
backside of the classroom

{|2) Supply students and parents with evaluation of
progress

50.

Identify the dizadvantage of the Lecture method from
the following.

(A) Direct expensnce

(B) Factzs presentation in short time

{2 Results in dictation

{0 Emphasis on independent reading

46.

47,

48,

Setting goals and deciding strategies of teaching
occurs in which phase of teaching?

[A) Pre active phase

(B} Post active phase

(C) Interactive phase

() Exit Phasa

Which of the following is a typlcal behaviour exhibited
by an adolescant?

1A) Religious

(B) Rebellious

{C) Obedient

(D) Submissive

‘Aimlessness” is one of the problems of secondary
education. Which of the following should be aimed at,
to counter this problem?

(&) Development of private schools

B} Development of attitudes

(C} Development of democratic citizens

(D) Development of communication skills

Determining factors of individual differences in human
beings are related to

(A) Differences in environment

(B] Differences in heredity

(C) Differences in assimilation and accommodation
(D) Interaction batween heradity and environment
Identify from the following, the agencies which are
developed with the specific and exclusive aim of
imparting education.

{A) Informal agencies of education

(B) Non-formal agencies of education

(C) Passive agencies of education

() Farmal Agencies of Education
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32B

95,

A fuse is placed with an appliance in afan
(A) Parallel arrangemeant
JB) Series arrangament
(C) Open circuit arrangement
{0} Loop circuit arrangement
In the hydragen atom Ea— Ez = E. Find the ionisation
potential in volt,
(A) 198V
(B) 13.2 eV
(C) 5.6 eV
(D) 10.2 eV
A force of 1.5 N is applied on a ball of mass 150 gm
for a time of 2 seconds. I it starts from rest, what is its
velocity when force ceases?
(A) 10 mfz
{B) 15 m/s
€7 20 mis
(D) 30 mis -
A body of mass 2 kg moves 30 m against a frictional
force of 100 N . If the work is completely converted
into heat, the rise in temperature of the body due to
the absorplion of heat i (given specific heat of the
material = 800 J / kgk)
(&) 25K
(B) 2.0 K
(C)1.5K
(D) 1K

L

99.  In an atom two electrons move round the nucleus
circular orbits of radii R and 4R. What iz the ratic
the time taken by them to complete one revolution?
AT 4
{B)4:1
(C)1:8
(D)8 :1
100.  Which one of the following vehicles offers Ia rgest
inertia?
(A) Cycle
(B) Scooter
{C) Motor Bike
B Car
101, Magnetic field lines inside a solenoid are
(A) Converging lines
(B) Zig-zag curvas
(C) Paralle! straight lines
(D) Diverging lines
102, Which of the following is an insulator of electricity?
{A) Copper
(B) Silver
(C) Aluminium
A Glass

103.  What happens when zinc metal is added into dilute
hydrochloric acid? |
(A) Hydrogen gas and zinc chloride are produced
(B) Zinc salt and water are produced
{C) Chlorine gas and iron hydroxide are produced
(D) No reaction takes place
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